Air Cylinder

CA2 series

240, 950, 063, 80, 2100

 S—

Iith‘ew

: 1.31 kg

1.54 kg

Current model

Easy air cushion control
Number of cushion valve adjustment rotations
increased from 1 rotation to 3 rotations.

Fine adjustment becomes easy, ensuring smooth
operation at the stroke end.

— , N Y4

/" Hexagon wrench

Various switches such as compact auto switches and
magnetic field resistant auto switches can be mounted.

p
Compact auto switches W =
- D-M9olJ
-D-A9] = |

-

— o
Magnetic field resistant

auto switches -

- D-P3DWA .
- D-P4DW

-

[

-XUJ

Technical
Data

465



I Part numbers with rod end bracket and/or pivot bracket available

Not necessary to order a bracket for the applicable cylinder separately
Note) Mounting bracket is shipped together with the product, but not assembled.

example) CDA2[D]40-100Z- N W -M9oBW

Mounting

Pivot bracket N: Kit of pivot bracket

and double clevis

Nil | None
Pivot bracket is
N shipped together

with the product,
but not assembled.

* Applicable to only mounting D (Double

Kit of pivot bracket | JLa{elel=llefeI 1o Gl

and trunnion Nil | None
V| Single knuckle joint
W | Double knuckle joint

"y |

FeT

clevis) and T (Center trunnion).

\.

\\!

With rod end bracket

V: Single knuckle W: Double knuckle
joint joint

I Various mounting bracket options b:pousie clevis

the installation condition.
* Improved amount of mounting freedom

B: Basic

» Suitable mounting brackets can be selected for

A®

N: Kit of pivot bracket
and trunnion

N: Kit of pivot bracket and
double clevis

X TJ/ T: Center trunnion
: N: Kit of pivot bracket

L: Axial foot and trunnion
. . (kg)
Reduced weight by changing CA2
the shape of the rod cover 40 | 093 | 12% | 106 |
and head cover. 50 | 131 | 15% | 154 |
63 | 184 | 1% | 215 |
80 | 817 | 1% | 356 |
100 | 429 | 10% | 476 |

= Compared to 50 stroke for each size
466 @gvc



No substances
hazardous to the
environment are used.

Lead free bushing is used as
sliding material.
Compliant with EU RoHS
directive.

Mounting dimensions |
are the same as the
current product.

by the construction which
minimizes resistance in
the air passage at startup.

@ )[ Cushion seal

CJ1
CJP
ston rod lurching reduced CJ2
Air passage notch
Piston lurching is reduced JCM

When starting
. operation
air

Operating
direction

Cushion ring
Stroke Variations
Bore size Standard stroke
(mm) | 25 50 75 100 125 150 175 200 250 300 350 400 450 500 600 700 Up to 1800
0 QO O @ @ @O O ¢ @O 9 9O 9O 9@ 9 o
50 @ @ O O O ¢ 9O ¢ ¢ 9O 9O 9O 9 ¢ o
68 @O @ @ @ @ ¢ ¢ @ ¢ 9O 9O 9O O @ 9 o
80 Q@ @ @ 9O ¢ ¢ 9O ¢ ¢ 9O 9O 9O 9O @ @ o
100 @ @ O @O O @ 9O ¢ 9O 9O 9O 9O 9O 9O 9@ 9
Series Variations
| Bore size (mm) | Variations ‘
Series Type Page
4 50 63 | 80 | 100 | Withrodboot  Water resistant
Standard CA2-Z
} Singlerod ()W WO " - Page 470
&% = :
_V Double rod () - - < - - Page 486
Non-rotating rod CA2K
e Single rod () * - - Page 494
P J‘ .‘:j'/)'
— ,ﬁ;- :l\',_
e {‘; Doublerod () - Page 498
L.
With end lock - cBA2
f&_ 2t Single rod () - " - - - Page 502
Air-hydro CA2[H
Single rod () - * - - -} Page 508
I'j - ’/)
?-;;iﬂ :‘\",_ J
S R | Doublerod () W D O QO - Page 512
Smooth Cylinder "3 CA2Y-Z | Best Pneumatics
M Single rod | \) ,,) Q Q ,) No. 2-3
P
Low friction J CA2(1Q e . I . o - D-J
4 F Use the new series “Smooth Cylinder CA2Y Series” to realize both-direction low friction and
P ri)" low-speed operation. (Refer to the Best Pneumatics No. 2-3.) XD
£l L% -
+ For details about the clean series, refer to the “Pneumatic Clean Series” (CAT.E02-23). Technica
Data

467



Combinations of Standard Products and Made to Order Specifications

CA2 Series

Series CA2 CA2KNote4)
(Standard type) (Non-rotating rod type)
@ : Standard N
O : Made to Order ?Ction/ Double acting
: . ; e
O : Special 'product (Please contact SMC for details.) Yp Single rod Double rod Single rod Double rod
— : Not available P
age Page 470 Page 486 Page 494 Page 498
e o Applicable
Specifications bore size —
Standard Standard ™) ) ° ™)
CDA2-0Z Built-in magnet o o o ™Y
Long st Long stroke 240 to 5100 (] (] O O
CA20-00JZ With rod boot (Nylon tarpaulin) () () [ [
CA20-0KZ With rod boot (Heat resistant tarpaulin) [ ) [ ) [ ) [ )
10-, 11- Clean series Note 4) 240 to 863 [ ] O — —
- i = Note 1) R J—
25A Copper (Cu) and Zinc (Z.n) free 240 10 5100 [ ) O
20- Copper Note 2) and Fluorine-free [ ] [ ] [ ) [ )
CA20R Water resistant (NBR seal) o O — —
CA201V Water resistant (FKM seal) 240 to 2100 (] O — —
CA20M Cylinder with stable lubrication function (Lube-retainer) [ ] O — —
XAL Change of rod end shape O O O
XB5 Oversized rod cylinder Note 4) ©) O — —
XB6 Heat resistant cylinder (-10 to 150°C) O (@) — —
XC3 Special port location Note 4) © (@) O O
XC4 With heavy duty scraper ©) O — —
XC5 Heat resistant cylinder (-10 to 110°C) @) O — —
XC6 Made of stainless steel Note 4) — — — —
Tie-rod, cushion valve,
Xc7 tie-rod nut, etc. made of stainless steel © @ @ ©
Adjustable stroke cylinder/Adjustable _
XCs extension type © @ o
Adjustable stroke cylinder/Adjustable
Xco retraction type © o @ B
XC10 Dual stroke cylinder/Double rod type ©) — O —
XC11 Dual stroke cylinder/Single rod type O O O —
XC12 Tandem cylinder © O @) —
XC14 Change of trunnion bracket mounting position @) (@) O ©)
XC15 Change of tie-rod length 24010 6100 © (@) O @)
XC22 Fluororubber seal @) @) — —
Double clevis and double knuckle joint pins
xca27 made of stainless steel o ©
XC28 Compact flange made of SS400 ©) (@) @) O
XC29 Double knuckle joint with spring pin O O O O
XC30 Rod trunnion © O O O
XC35 With coil scraper @) @) — —
XC65 Made of stainless steel (Combination of XC7 and XC68) © (@) — —
Made of stainless steel
XC68 (with hard chrome plated piston rod) © ©) - -
XC85 Grease for food processing equipment O O O O
Spatter resistant coil scraper, Lube-retainer,
Xcss Grease for welding (Piston rod: Stainless steel 304) O O
Spatter resistant coil scraper, Lube-retainer,
Xcs9 Grease for welding (Piston rod: S45C) © o - -
Spatter resistant coil scraper,
Xco1 Grease for welding (Piston rod: S45C) © o - —
X1184 Cylinder with heat resistant reed auto switch (-10 to 120°C) O O — —

Note 1) For details, refer to the Web Catalog.

Note 2) Copper-free for the externally exposed part. For details, refer to the Web Catalog.
Note 3) For details about the smooth cylinder, refer to the Best Pneumatics No. 2-3.

Note 4) The cover shape is the same as the current product.

468



CA2 series

(Refer to the Best Pneumatics No. 2-3.)

Use the new series “Smooth Cylinder CA2Y Series” to

realize both-direction low friction and low-speed operation. <—|

CB A2 Note 4)
(With end lock)

C AZD H Note 4)
(Air-hydro type)

c A2Y Note 3)
(Smooth Cylinder)

CA2[1Q Mote
(Low friction type)

Double acting

Single rod

Single rod

Double rod

Single rod

Single rod

Page 502

Page 508

Page 512

Best Pneumatics No. 2-3

Page 516

Standard

CDA2-0Z

Long st

CA20-0JZ

CA20-0KZ

| [Ol0C|e®

10-, 11-

25A-

| O] [Olo]0|e|®

20-

CA2CR

CA20V

CA20M

XAO

| [Of!

XB5

| |00}l |O|0]0]|

XB6

©Note 8)

XC3

Note 7)

Note 7)

Q[O

XC4

XC5

)

XC6

©
@)
©)
©
@Note 5)
@)
@Note 5
O

O O]l

XC7

@Note 5)

XCs8

)

XC9

XC10

XC11

XC12

XC14

XC15

00000 |

| OOl ool O | O | ©

| |O|O]| [O|©] © | O | O |O]I

XC22

XC27

XC28

XC29

XC30

XC35

Ol0|0|0|0] O [0|OPIO|0I0] © | O | O |0}l |01 |0 |OO|O]|

Ol|0|0|0|0

Ol |0|0[0] ©

XC65

| |O|O[l |©|0] © |0/0[000|0 Q

O (9]l ©©|0 ©

XC68

XC85

XC88

XC89

XCo1

©)
©)
©)
©)
©)

X1184

Note 5
Note 6
Note 7
Note 8

Available only for locking at head end.
Available only for locking at rod end.
Standard for the air-hydro type
CA20]Q series has no cushion. Only XC3BC, XC3CD and XC3DA are available.

O

SMC

469




J

Mounting
Basic
Axial foot
Rod flange
Head flange
Single clevis
Double clevis
Center trunnion

* Mounting brackets other
than center trunnion are
shipped together.

With auto switch
(Built-in magnet)

-|0|0|® mrmw

Air Cylinder: Standard Type
Double Acting, Single Rod

CA2 Series

040, 950, 63, 380, o100

How to Order

50

1(|)0

50

100

Z_

MQBW

Bore size —

—#

Bracket 1 r

Nil

Without bracket

N

Pivot bracket

+ Only for D and T mounting types.
« Pivot bracket is shipped together with

40| 40 mm| Port thread
50| 50 mm type
63| 63 mm Nil | Rc
80| 80 mm TN |[NPT
100/100 mm TF | G

o Tube material

Nil

Aluminum tube

F*

Steel tube

= Not available with auto switch.

Cylinder stroke (mm)

For details, refer to the next page.

Nil [ Without auto switch]

* For applicable auto switches,
refer to the table below.

Applicable Auto Switches/Refer to pages 1575 to 1701 for further information on auto switches.

auto switches

the product, but not assembled. Bracket 2
Suffix (cushion) Nil WIthOUt brack.eF
Nil Air cushion V__ [Single knuckle joint
N Rubber b W | Double knuckle joint
ubber bumper # A knuckle joint pin is not provided
- with the single knuckle joint.
0Su.ffIX (ROd bOOt) * Rod end bracket is shipped
Nil None together with the product, but not
> J Nylon tarpaulin assembled.
K |Heat resistant tarpaulin

Nil | 2 pcs.

S 1 pc.

3 3 pcs.

n_ |“n” pcs.
Made to Order ¢

For details, refer
to the next page.

; S g Electrical f:m Wiring Load voltage Auto switch model |Lead wire length (m) Pre-wired Aoslicable load
e ecial function £ Tie-rod Band 0.5 1135 icable loa
yp P entry % (Output) DC AC mounting | mounting | (Nil) |M)| (L) | @) connector| PP
) M9N — ® oo O O
3-wire (NPN)
5V, 12V — SE @ — 09! O liccicu
Grommet 3-wire (PNP)| 24V — sbE — ® 0,0 0O o
_ = G5P ® —|0 0 @)
) M9B — ® e /e O @)
2-wire 12V — K59 e — elO o) _
< Terminal 3-wire (NPN) 12V G39C G39 — | —]—1— —
£ conduit 2-wire K39C K39 — | —|—=]— —
o 3-wire (NPN) MONW | __— ® ©,00 O o
= 5V 12V — G59W ® —|®|O O |IC circuit Relay
Py Diagnostic indication Yes| 3-wire (PNP) ’ M9PW = ® /0 O o PLC‘
] (2-color indicator) — G5PW ® — 0|0 @)
0 ) M9BW — ® e /e O @)
2 Zwire | pgy | 12V — | KW | @ [—|@|O0| O
€N Grommet 3-wire (NPN) 5V 12V MONA*! — © |0O|®|O O _
Water resistant 3-wire (PNP) ’ MOPA*! — O |[0O|®@]|O O
(2-color indicator) 2-vire 12V M9BA*! — O |0O|@®@]|O @)
= G5BA*" | — |—| @] O O
With diagnostic output (2-color indicator) 4-wire (NPN) 5V,12V F59F G59F ® —|@e O O |ICcircuit
Magnetic field resistant 2-wire _ P3DWA — e — o0 O _
(2-color indicator) (Non-polar) P4DW — — | — @@ O
v 3wire (NPN equivalen)]  — 5V — A96 — o —| 0| — — |ICcircuit| —
5 | 100V | A93 = © (o 0o/0 — —
£ Grommet |Noj 100Vorless) A90 — o —| 0| — — [ICcircuit Relay
- _ [Yes| 100V,200V| A54 B54 e [—|oj0| — PLC.
= No D-viire 24V 12V [200Vorless) A64 B64 o —| 0| — —
5 Tern;inal — A33g A33 — | === — _ oG
] conduit A34 A34 — | —=]=]= —
3 DIN terminal] ' * 100V, 200V A44C Ad44 — | === — Relay,
Diagnostic indication (2-color indicator) | Grommet — — A59W | B59W e —|e — PLC

+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
A water-resistant type cylinder is recommended for use in an environment which requires water resistance.

* Lead wire length symbols: 0.5 m---

1m--
3m..-
5m--

-- Nil (Example) MONW
-- M (Example) MONWM
- L (Example)

Z (Example) MONWZ

MONWL

+ Since there are other applicable auto switches than listed above, refer to page 523 for details.
* For details about auto switches with pre-wired connector, refer to pages 1648 and 1649.
* The D-A900/M90I0OC/P3DWAL auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled for the D-A90/

M9DIOO before shipment.)

470

* Solid state auto switches marked with “O” are produced upon receipt of order.




Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Specifications
Bore size (mm) 40 | 50 [ 63 | 80 [ 100
Fluid Air
Action Double acting
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa CJ1
. . Without auto switch: —10 to 70°C*1 —
Symbol Ambient and fluid temperature With auto switch - —10 o 60°C*" CJP
Double acting Minimum operating pressure 0.05 MPa I
Piston speed 50 to 500 mm/s ch
} Cushion Air cushion or Rubber bumper
| . Stroke length tolerance Upto 250 st 37 25110 1000 st *3* 100110 1500 st: 3 1501 to 1800t 22 | [ —
Lubrication Not required (Non-lube) JCM
Air cushion Mountin Basic, Foot, Rod flange, Head flange —
\iade 10 9 Single clevis, Double clevis, Center trunnion CMZ
order | Made to Order: Individual Specifications Allowable | Air When activated| 2.8 46 7.8 16 29
—mg= (For details, refer to page 524.) kinetic cushion | When not activated 0.33 0.56 0.91 1.5 2.68 cm3
Symbol Specifications energy (J)*2|  Rubber bumper 1.8 3.6 6.0 12.0 12.0
X Cylinder with heat resistant reed auto *1 No freezing CG1
-X1184 switch (—10 to 120°C) %2 Activate the air cushion when operating the cylinder. If this is not done, the piston rod
assembly or the tie-rods will be damaged when the allowable kinetic energy exceeds the ————
Made to Order values shown in the above table. CG3
Click here for details —
Symbol Specifications Standard Strokes JMB
-XA[ | Change of rod end shape (mm) ———
-XB5 | Oversized rod cylinder* Standard stroke Not 1) Max. manufacturable | |[VIB
-XB6 | Heat resistant CV'!”dif (=100 150°C) Bore size Stroke range () Stroke range @ stroke
-XC3 | Special port location
-XC4 | With heavy duty scraper 40 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, MB1
-XC5 | Heat resistant cylinder (-10 to 110°C) 350, 400, 450, 500
Tie-rod, cushion valve, 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
-XC7 tie-rod nut, etc. made of stainless steel 50, 63 350, 400, 450, 500, 600 Up o 1800 Up to 2700
-XC8 | Adjustable stroke cylinder/Adjustable extension type 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, —
-XC9 | Adjustable stroke cylinder/Adjustable retraction type 80, 100 350, 400, 450, 500, 600, 700 CS1
-XC10| Dual stroke cylinder/Double rod type - - -
-XC11] Dual stroke cylinder/Single rod type Note 1) Intermediate strokes not listed above are produced upon receipt of order. —
-XC12| Tandem cylinder Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air csz
-XC14 | Change of trunnion bracket mounting position Cylinders Model Selection” on front matter pages. In addition, the products that exceed
-XC15 | Change of tie-rod length the stroke range (1) might not be able to fulfill the specifications due to the deflection etc.
-XC22| Fluororubber seal Note 3) Please consult with SMC for manufacturability and the part numbers when exceeding the stroke range (2).
XC27 Double clevis and double knuckle joint pins Note 4) The stroke range with rod boot is 20 to 1800 mm. Please consult with SMC when exceeding 1800 mm strokes.
B made of stainless steel Note 5) Using a stroke of a length which is smaller than the effective cushion length may result in
-XC28 | Compact flange made of S5400 reduced air cushion performance. Refer to “Technical Data 1” on page 1901 for details on
-XC29 | Double knuckle joint with spring pin the effective cushion length.
-XC30 | Rod trunnion
-XC35 | With coil scraper .. R R
-XC65 | Made of stainless steel (Combination of XC7 and XC68) ‘ Minimum Stroke for Auto Switch Mounting
-XC68 Made of stainless steel (with hard chrome .
plated piston rod) A
-XC85 | Grease for food processing equipment Ca Utl on
_xcgg | Satter resistant coil scraper, Lube-retainer, The minimum stroke for mounting varies with the auto switch type and
gs:;ee:°r'e‘"§'5°::gt(:fﬁc'f:p:tf'ﬂ'j;iS:Zte;f::: cylinder mounting type. In particular, the center trunnion type needs
XC89| 1sase for welding (Piston rod: S45C) | careful attention. (For details, refer to pages 521 and 522.)
-XC91 Spatter resistant coil scraper,
Grease for welding (Piston rod: S45C) Rod Boot Material
For special port location (-XC3), the mounting bracket - -
and port location can be determined using the standard Symbol Rod boot material Max. ambient temperature
product corresponding to the operating conditions. J Nylon tarpaulin 70°C
+ The cover shape is the same as the current product. K Heat resistant tarpaulin 110°C*

For made of stainless steel (-XC6), use made of * Maximum ambient temperature for the rod boot

stainless steel (with hard chrome plated piston rod) .
(-XC68) that the surface treatment is performed on Accessories
the piston rod with the same specifications.

Refer to pages 517 to 523 for cylinders with Mounting Basic '?::;‘I flir?ge fll—;?;: i;ggilse E;?;V?Le trcfjir:ii;

auto switches. Standard Rod end nut ° o Y o [) [ ) [ ] [
* Auto switch proper mounting position (detection Clevis pin — — — — — [ — D'D

at stroke end) and its mounting height Single knuckle joint ® (] L] L] ® L] ® —
. Operating range Option unble_ knuckle joint ° PY PY PY PY PY PY -XD
¢ Minimum stroke for auto switch mounting 8\'/‘":: pl;)b " ° ° ° ° ° ° ° Techmica
. . ith rod boo
e Al tch mount rackets/Part no.
uto switch mounting brackets/Part no « Refer to page 485 for part numbers and dimensions. Data

471 ©



CA2 series

Ordering_j Example of Cylinder Assembly

Double clevis

Cylinder model:
CDA2D50-100Z-NW-M9BW

Double knuckle joint

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

* Pivot bracket, double knuck-
le joint and auto switch are
shipped together with the
product, but not assembled.

Weights/Aluminum Tube (Steel Tube)

Mounting Brackets/Part No.

Bore size (mm) 40 50 63 80 100
Axial foot™ CA2-L04 | CA2-L05 | CA2-L06 | CA2-L08 | CA2-L10
Flange CA2-F04 | CA2-F05 | CA2-F06 | CA2-F08 | CA2-F10
Single clevis CA2-C04 | CA2-C05 | CA2-C06 | CA2-C08 | CA2-C10
Double clevis CA2-D04 | CA2-D05 | CA2-D06 | CA2-D08 | CA2-D10

+ When axial foot brackets are used, order two pieces per cylinder.
=% A clevis pin, flat washers and split pins are shipped together with double
clevis.

Allowable Kinetic Energy

(kg)
Bore size (mm) 40 | 50 | 63 | 80 | 100
Basic Aluminum tube| 0.73 | 1.06 | 1.53 | 2.73 | 3.71
i
Steel tube 0.781.12|1.62|2.91 |3.98
. Aluminum tube | 0.91 | 1.25 | 1.83 | 3.40 | 4.64
Axial foot
Steel tube 0.96 | 1.311.92 | 3.58 | 4.91
Aluminumtube| 1.09 | 1.48 | 2.28 | 4.18 | 5.57
Flange

Steel tube 1.14|1.54 |2.37 | 4.36 | 5.84

Basic weight -
Single Aluminum tube| 0.95 | 1.37 | 2.12 | 3.84 | 5.43

clevis Steel tube 1.00|1.43|2.21|4.02|5.70

Double |Aluminum tube| 0.99 | 1.46 | 2.28 | 4.13 | 5.95

clevis Steel tube 1.04]1.52|2.37 | 4.31 | 6.22

Aluminum tube| 1.08 | 1.51 | 2.29 | 4.28 | 5.93

Trunnion
Steel tube 1.13|1.57 | 2.38 | 4.46 | 6.20

Additional weight | All mounting | Aluminum tube| 0.20 | 0.25 | 0.31 | 0.46 | 0.58

per 50 mm of stroke | brackets | Steeltube | 0.28 | 0.35 | 0.43 | 0.7 |0.87

1000 2100 =
280 AN
ANAN
263
250 \
240
100 \\
N\ AN
. NN N
g AN AN
@ ANAN
(%]
©
£
el
[
o
-
10
1
S \QQ QQQ
Maximum speed (mm/s)

) Single knuckle 0.23 | 0.26 | 0.26 | 0.60 | 0.83
Accessories ——
Double knuckle (with pin) | 0.37 | 0.43 | 0.43 | 0.87 | 1.27
Calculation: ® Basic weight:------- 0.91 kg

Example) CA2L40-100Z ® Additional weight----0.20/50 stroke
(Axial foot, 940, 100 stroke) @ Cylinder stroke ------ 100 stroke

0.91 + 0.20 x 100/50 = 1.31 kg

472

(Example) Find the upper limit of rod end load when an air
cylinder of 63 is operated at 500 mm/s.
From a point indicating 500 mm/s on the axis of
abscissas, extend a line upward and find a point
where it intersects with a line for the 63 mm
bore size. Extend a line from the intersection to
the left and find a load mass 60 kg.



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Water Resistant

CDAZ‘ Mounting type HBore sizeH Port thread type ‘ —‘ Stroke HSuffix ‘Z — M9JA(V)L [-XC68
With auto switch Water resistant Made to Order
(Built-in magnet) 2-color indicator
Water resistant air cylinder solid state auto switch
R | NBR seal (Nitrile rubber)
V | FKM seal (Fluororubber)
Specifications Dimensions
Action Double acting, Single rod
Bore size (mm) 40, 50, 63, 80, 100 *The dimensions are the same as the standard
Cushion Air cushion double acting, single rod type. Refer to page
Auto switch mounting Tie-rod mounting 475 for details.
XC68: Made of stainless steel
Made to Order (with hard chrome plated piston rod)

+ Specifications other than the above are the same as the standard basic type.
Note 1) Excluding the air-hydro type and the type with a rod boot of the CA2 series.
Note 2) Combination of auto switches and steel tube is not available.

For details, refer to page 1125.

Cylinder with Stable Lubrication Function (Lube-retainer)

Auto switch

CDA2 ’ Mounting type H Bore size‘ M- ’ Stroke ‘ Z— ’ Pivot bracket ‘ ’ Rod end bracket ‘ _—

* D: Available only for

With auto switch Cylinder with Stable Lubrication Function (Lube-retainer) ~ "ith auto switch.

(Built-in magnet)

a

Specifications

Bore size (mm) 40, 50, 63, 80, 100
Action Double acting, Single rod
Minimum operating pressure 0.1 MPa
Piston speed 50 to 500 mm/s
Cushion Air cushion

+ Specifications other than the above are the same as the standard type.

Dimensions (pimensions other than those shown below are the same as the standard type.)

=T 7T (mm)
il 1 —] Bore size oe f
—=1) = 40 26 13.5
j 50 30 125
e H—& & 63 30 125
j 80 36 16.5
i O 100 42 16
* The mounting dimensions of the mounting

bracket are the same as the standard type.

For details, refer to the Web Catalog.

473

CJ1

CJP

CJ2
JCM
cm2

CM3

CG1

CG3

JMB
MB
MB1

CS1
CS2

D-UJ
-XUJ

Technical
Data




CA2 series

Construction

N

19(7) (2

10 1
Component Parts Replacement Parts: Seal Kit
No. Description 'Mate'rlal : Note Bore size Kit no. Contents
1 |Rod cover Aluminum die-casted| Trivalent chromated (mm)
2 |Head cover Aluminum die-casted| Trivalent chromated 40 CA2-40Z-PS
3 |Cylinder tube Aluminum alloy Hard anodized 50 CA2-50Z-PS
4 | Piston rod Carbon steel Hard chrome plating 63 CA2-63Z-PS S%[, t‘hqezn
5 |Piston Aluminum alloy 80 CA2-80Z-PS
6 | Cushion ring Aluminum alloy Anodized 100 CA2-100Z-PS
7 |Cushion ring B Aluminum alloy Anodized * Seal kit includes (5, (6, (2, (9. Order the seal kit based on each bore size.
8 |Bushing Bearing alloy * Do no_t qisassemble the trunnion type. Refer to page 525.
Steolwre | Trenzmocorai SoL AL e 00050 106,00 090 20 0100 209
10 | Tie-rod Carbon steel Trivalent zinc chromated Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)
11 | Retaining ring Spring steel Phosphate coating
12 | Spring washer Steel wire Trivalent zinc chromated
13 | Tie-rod nut Rolled steel Trivalent zinc chromated
14 | Wear ring Resin
15 | Cushion seal Urethane
16 | Rod seal NBR
17 | Piston seal NBR
18 | Cushion valve seal NBR
19 | Cylinder tube gasket NBR
20 | Rod end nut Rolled steel Trivalent zinc chromated

474



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Basic: CA2B

2 x Cushion valve

2xP When the stroke is 1001 mm or longer,
a tie-rod reinforcement ring is attached.
4xd Width across flats KA G <9> c J1
SPNE R e L .
'\_/ = ~ N E CJP
MY o] w o = @
% é}l 9= 5 —
DT e = = CJ2
&/ Hi1 —H | —H 1 —
B1 AL JCM
c A K RT —
B FIL LN N cm2
H S + Stroke M —_—
ZZ + Stroke CM3
With rod boot
. CG3
O = JMB
ol o| | Tha D
SIS I W=
102 MB1
h+¢
ZZ + ¢ + Stroke
(mm) CSZ
Bore size M
(mm) A AL B B c D E F G H J K KA Without reiforcement ring | With reinforcement ring| MM
40 30 27 60 | 22 44 16 32 10 15 8 M8 x 1.25 6 14 11 11 M14x1.5
50 35 32 70 | 27 52 20 40 10 17 11 M8 x 1.25 7 18 11 12 M18 x 1.5
63 35 32 85 | 27 64 20 40 10 17 11 M10x 1.25 7 18 14 15 M18x 1.5
80 40 37 [ 102 | 32 78 25 52 14 21 13 | M12x1.75 | 10 22 17 19 M22 x 1.5
100 40 37 | 116 | 41 92 30 52 14 21 16 | M12x1.75 | 10 26 17 19 M26 x 1.5
Bore size Without rod boot With rod boot
(mm) N P |RT | RY| S H Y74 d - f h ¢ Y44
Without reinorcement ring | With reinforcement ring Without reinforcement ring | With reinforcement ring
40 27 1/4 30 64 84 | 51 146 146 56 43 | 11.2] 59 1/4 stroke 154 154
50 30 3/8 30 76 90 | 58 159 160 64 52 | 11.2 | 66 1/4 stroke 167 168
63 31 3/8 40 92 98 | 58 170 171 64 52 | 11.2 | 66 1/4 stroke 178 179
80 37 12 45 112 | 116 | 71 204 206 76 65 | 125 | 80 1/4 stroke 213 215
100 40 12 50 136 | 126 | 72 215 217 76 65 | 14 81 1/4 stroke 224 226
Note 1) When a flange bracket is mounted on the head cover side of the basic type with bore size of 850 to 8100 and stroke of 1001 mm or more, it is necessary to
loosen the tie-rod to adjust the M dimension. When head flange type is ordered, adjustment is not necessary.
Note 2) For models with bore size of 850 to 100 and stroke of 1001 mm or more, do not mount a flange bracket on the rod cover side of the basic type since H
dimension is different from those shown above. When rod flange type is used, order with the part number with bracket.
Technical
Data

475



CA2 series

Axial Foot: CA2L

2 x Cushion valve

H G 2xP When the stroke is 1001 mm or longer,
a tie-rod reinforcement ring is attached.
A K G
AL F e
B1 4xd
@ (7 MM Hi — 1] SERI=D
[ f\}\/ - > S
> : (Y N3} ﬂi = | &
> &y : f s
o =TH) [IR 4xeLD
- o 7 Width across 9 H HY
i T flats KA ) T
- ﬂ N RT N
LX - X S + Stroke X
c Y LS + Stroke
B ZZ + Stroke
With rod boot ,
N I —
RS L %1 8S)
JUHIR
H ——
L
10.2 ¢ f
h+¢
ZZ + ¢ + Stroke
(mm)
B°('n‘j nﬁ')ze A|AL| B |Bi|C | D|E| F |G| H K |KA|LD|LH|LS|LT|LX]|LY
40 30 27 60 22 44 16 32 10 15 8 M8 x 1.25 6 14 9 40 138 | 3.2 42 70
50 35 32 70 27 52 20 40 10 17 11 M8 x 1.25 7 18 9 45 144 | 3.2 50 80
63 35 32 85 27 64 20 40 10 17 11 M10 x 1.25 7 18 | 11.5] 50 166 | 3.2 59 93
80 40 37 102 32 78 25 52 14 21 13 M12 x 1.75 10 22 | 135 | 65 | 204 | 45 76 116
100 40 37 116 41 92 30 52 14 21 16 M12 x 1.75 10 26 | 135 | 75 | 212 | 6 92 133
Bore size Without rod boot With rod boot
(mm) MM | NP S| X | Y RTIRY H zz[dle [ f]h ‘ zz
40 M14 x1.5 27 1/4 84 27 13 30 64 51 175 | 56 43 | 11.2 | 59 1/4 stroke 183
50 M18 x 1.5 30 3/8 90 27 13 30 76 58 188 | 64 52 | 11.2 | 66 1/4 stroke 196
63 M18x 1.5 31 3/8 98 34 16 40 92 58 | 206 | 64 52 | 11.2 | 66 1/4 stroke 214
80 M22 x 1.5 37 12 | 116 44 16 45 112 71 247 | 76 65 | 125 | 80 1/4 stroke 256
100 M26 x 1.5 40 1/2 | 126 43 17 50 136 72 | 258 | 76 65 | 14.0| 81 1/4 stroke 267

476



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Rod Flange: CA2F

Stroke of 1000 mm or less

2xP

G G 4 xoFD 4xd
2 x Cushion valve
Width across flats KA — CJ1

= EF7 lomc

q] — o4 Bz % o/m c
%
Width across flats B1 H1 A = 7-{:} j = (\ Ny =
t A _J
AL || |2 JCM
K C e —
A FT| N N B CMZ
H S + Stroke M FX —
ZZ + Stroke FZ CM3
With rod boot —
- c63
HH] L
() = +—F
x IS JMB
3| 8 EERE |9 ==
) g/ -
SN MB
10.2 4 f MB1
h+¢
ZZ + ¢ + Stroke
(mm)
B"('n‘j nﬁ')ze A|AL| B |Bi|C | D | E |FB|FD|FT|FV|FX|FY|FZ| G | Hi J K | KA
40 30 27 60 22 44 16 32 71 9 12 60 80 42 100 15 8 M8 x 1.25 6 14
50 35 32 70 27 52 20 40 81 9 12 70 90 50 110 17 11 M8 x 1.25 7 18
63 35 32 85 27 64 20 40 101 | 11.5] 15 86 | 105 59 130 17 11 M10 x 1.25 7 18
80 40 37 102 32 78 25 52 119 | 13.5| 18 102 | 130 76 160 | 21 13 | M12x1.75 10 22
100 40 37 116 41 92 30 52 133 | 135 | 18 116 | 150 92 180 | 21 16 | M12x1.75 10 26
Bore size Without rod boot With rod boot % For installing an air cylinder,
(mm) M MM N P S H ZZ *d e f h ¢ ZZ when a hole must be made to
accommodate the rod portion,
40 11 M14 x 1.5 27 1/4 84 51 146 52 43 | 15 59 1/4 stroke 154 make sure to machine a hole
50 11 | M18x15 | 30 | 3/8 | 90 | 58 | 159 | 58 | 52 |15 | 66 | 1/Astroke | 167 that is larger than the outer
63 14 | M18x1.5 | 31 3/8 98 | 58 | 170 | 58 | 52 | 17.5| 66 1/4 stroke | 178 diameter of the boot mounting
80 17 M22 x 1.5 37 12 | 116 71 204 | 80 65 | 21.5| 80 1/4 stroke 213 bracket od.
100 17 M26 x 1.5 40 1/2 | 126 72 | 215 80 65 | 21.5| 81 1/4 stroke 224
Technical
Data

477



CA2 series

Rod Flange: CA2F

Stroke of 1001 mm or more

2xP 2 xCushion valve
When the §troke is 1001.mn.1 or longer,
Width across flats KA a tie-rod reinforcement ring is attached. o )
MM G S sxo x
Width across flats B1 RR b Pd 5
—\_‘ i:UI il 0
> =
= I |
ol HH @ﬁ— o 4 @
H1 H) H
H =
2
AL FT| N RT N C
A K B
H S + Stroke M FX
ZZ + Stroke FZ
With rod boot B
I /0
=)
g O
H)
=/l
10.2 4 f
h+¢
ZZ + ¢ + Stroke
(mm)
B"('n‘j nﬁ')ze A|AL| B |Bi|C | D | E |FB|FD|FT|FX|FY|FZ| G | Hi J K [KA| M
40 30 27 60 | 22 44 16 32 71 9 12 80 42 | 100 15 8 M8 x 1.25 6 14 11
50 35 32 70 | 27 52 20 40 88 9 20 | 120 58 | 144 17 11 M8 x 1.25 7 18 6
63 35 32 85 | 27 64 20 40 105 | 11.5| 23 | 140 64 | 170 17 11 M10 x 1.25 7 18 10
80 40 37 | 102 | 32 78 25 52 124 | 13.5| 28 | 164 84 | 198 | 21 13 | M12x1.75 10 22 12
100 40 37 | 116 | 41 92 30 52 140 | 13.5| 29 | 180 | 100 | 220 | 21 16 | M12x1.75 10 26 12
Bore size Without rod boot With rod boot *For installing an air cylinder,
MM N P | RT | RY| S > when a hole must be made to
(mm) H ZZ c f h ¢ 24 accommodate the rod portion
40 M14x1.5 27 1/4 30 64 84 | 51 146 | 52 19 66 1/4 stroke 162 make sure to machine a hole
50 M18x1.5 | 30 | 3/8 | 30 76 | 90 | 67 | 163 | 52 19 66 1/4 stroke | 162 that is larger than the outer
63 M18x 1.5 31 3/8 | 40 92 98 | 71 | 179 | 52 19 66 1/4 stroke | 174 diameter of the boot ge.
80 M22x 1.5 37 1/2 45 112 | 116 | 87 | 215 | 65 21 80 1/4 stroke | 208
100 M26 x 1.5 40 1/2 50 136 | 126 | 89 | 227 | 65 21 81 1/4 stroke | 219

Note 1) For flange type with bore size of 240, the same flange bracket is used for all strokes.

Note 2) For models with bore size of 850 to 100 and stroke of 1001 mm or more, do not mount a flange bracket on the rod cover

side of the basic type since H dimension is different from those shown above. When rod flange type is used, order with the
part number with bracket.

478



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Head FIang_je: CA2G

Stroke of 1000 mm or less

4 x oFD B1 4xJ G 2xP G
Width across flats KA 2 x Cushion valve
=
PGS "\ T i o
S A\ — —
m|>|> 1Ay /om mni o I . & [ CJP
i N n . (A
LR | E 2
AL —]
Cc F N N JCM
A || K P
FX H S + Stroke FT| CMZ
FZ ZZ + Stroke
CM3
CG1
With rod boot —
_ =
ol o | [V B JMB
a| 8| T AIS e —
Sl e
10.2 ¢ f MB1
h+¢ ——
ZZ + ¢ + Stroke
CS1
(mm) 1¢S2
B°('n‘j nﬁ')ze A|AL| B |B | C | D | E | F |FB|FD|FT|FV|FX|FY|FZ| G | Hi J —
40 30 | 27 60 | 22 [ 44 [ 16 [ 32 [ 10| 71| 9 12 | 60 | 80 | 42 [ 100 | 15 8 | M8x1.25
50 35 | 32 70 [ 27 | 52 | 20 | 40 | 10 | 81| 9 12 [ 70 | 90 | 50 [ 110 | 17 | 11 M8 x 1.25
63 35 | 32 85 | 27 | 64 | 20 | 40 | 10 [ 101 |115] 15 | 86 | 105 | 59 | 130 [ 17 | 11 [ M10x1.25
80 40 | 37 [ 102 | 32 [ 78 | 25 | 52 | 14 [ 119 [135] 18 [ 102 | 130 | 76 | 160 | 21 [ 13 | M12x1.75
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 14 [ 133 | 135 | 18 [ 116 | 150 | 92 | 180 | 21 | 16 | M12x1.75
Bore size Without rod boot With rod boot
(mm) K|KA| WM N|P|STH[zz{d[e [ ]h ‘ 2z
40 6 | 14 | M14x15 | 27 | 1/4 | 84 | 51 | 147 | 56 | 43 | 112 | 59 | 1/4stroke | 155
50 7 18 M18x 1.5 30 3/8 90 58 160 64 52 11.2 66 1/4 stroke 168
63 7 | 18 [ M18x15 | 31 | 38 | 98 | 58 | 171 | 64 | 52 | 112 | 66 | 1/dstroke | 179
80 10 | 22 | M22x15 | 37 [ 1/2 [ 116 | 71 [ 205 | 76 | 65 | 125 | 80 | 1/4stroke | 214
100 10 | 26 | M26x15 | 40 | 1/2 [126 | 72 | 216 | 76 | 65 | 14.0 | 81 1/4 stroke | 225
D-[]
-XUJ

Technical
Data

479



CA2 series

Head FIang_;e: CA2G

Stroke of 1001 mm or more

2 x Cushion valve

4 x gFD When the stroke is 1001 mm or longer,
Width across flats KA 2xP a tie-rod reinforcement ring is attached.
B1 4xd
G G
(7 X\ v = =] P i \J:l]_):(—r_
O L@ = Sl M
SN 4 e >
o
m| > MY olm wla = } &
[THETH \{ %% #\ Q| & g
' @ N ﬂ (\ s == (
|
Hi1
(o AL F RT N
B A K| N
FX H S + Stroke FT
FZ ZZ + Stroke
With rod boot
o| o [ | Hg
e o PE]
S
10.2 [
h+¢
ZZ + ¢ + Stroke
(mm)
B‘z'n‘j nﬁ')ze A|AL| B |Bi| C | D|E |FB|FD|FT|FX|FY|FZ| G | H J K | KA
40 30 27 60 22 44 16 30 71 9 12 80 42 | 100 15 8 M8 x 1.25 6 14
50 35 32 70 27 52 20 40 88 9 20 120 58 | 144 17 11 M8x1.25 7 18
63 35 32 85 27 64 20 40 105 | 115 | 23 140 64 | 170 17 11 M10 x 1.25 7 18
80 40 37 102 32 78 25 52 124 | 135 | 28 164 84 | 198 21 13 M12 x 1.75 10 22
100 40 37 116 41 92 30 52 140 | 135 | 29 180 | 100 | 220 21 16 M12x1.75 10 26
Bore size Without rod boot With rod boot
(mm) MM | N | P | SIRTIRY"Hlzz| d e[ f]h ‘ zz
40 M14x1.5 27 1/4 84 30 64 51 147 | 56 43 | 112 | 59 1/4 stroke 155
50 M18x 1.5 30 3/8 90 30 76 58 168 | 64 52 | 11.2 | 66 1/4 stroke 176
63 M18 x 1.5 31 3/8 98 40 92 58 179 | 64 52 | 11.2 | 66 1/4 stroke 187
80 M22x 1.5 37 12 | 116 45 112 71 215 | 76 65 | 125 | 80 1/4 stroke 224
100 M26 x 1.5 40 12 | 126 50 136 72 227 | 76 65 | 14 81 1/4 stroke 236

Note 1) For flange type with bore size of 240, the same flange bracket is used for all strokes.
Note 2) When a flange bracket is mounted on the head cover side of the basic type with bore size of 850 to 8100 and stroke of 1001 mm or
more, it is necessary to loosen the tie-rod to adjust the M dimension. When head flange type is ordered, adjustment is not necessary.

480



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Sing_jle Clevis: CA2C

2 x Cushion valve When the stroke is 1001 mm or longer,

2xP a tie-rod reinforcement ring is attached.
Width across flats KA G G
e 4xd
R L oCDH10 o X CL
- T T I [E€ CJP
w oi M| o I ; ® G : tolm
ua - . : 9 : :
& . CJ2
Width across flats B1 H1 = H B " j r " JCM
AL T [
A K RT N u ICX CM2
F | N c L
H S + Stroke L B CM3
Z + Stroke RR L
ZZ + Stroke CG1
With rod boot JMB
I Tkl
Bl 8| e MB1
/ 6 -
10.2 e
h+¢ CS1
ZZ + ¢ + Stroke —
(mm)
B‘;’mems')ze A|AL| B | Bi | C CDh10 cX D | E| F| G | H J K | KA | L
40 30 | 27 60 | 22 | 44 10+30%8 1529 16 | 32 10 15 8 M8 x 1.25 6 14 | 30
50 35 | 32 70 | 27 | 52 PR 1823 20 | 40 10 17 | 11 M8 x 1.25 7 18 35
63 35 | 32 85 | 27 | 64 163070 2523 20 | 40 10 17 | 11 M10 x 1.25 7 18 40
80 40 | 37 | 102 | 32 | 78 POl o 31.5% 25 | 52 14 | 21 13 | M12x1.75 | 10 | 22 | 48
100 40 | 37 | 116 | #1 92 2519084 35.52%: 30 | 52 14 | 21 16 | M12x175 | 10 26 58
Bore size Without rod boot With rod boot
i) MM N|PIRRI S | U g Tz lz[dlelf]h ‘ Z [ 2z
40 M14x15 | 27 | 1/4 | 10 84 | 16 | 51 | 165 | 175 | 56 | 43 | 11.2| 59 1/4 stroke | 173 | 183
50 M18x1.5 | 30 | 3/8 | 12 90 | 19 | 58 | 183 | 195 | 64 | 52 | 11.2| 66 1/4 stroke | 191 | 203
63 Mi8x15 | 31 | 38 | 16 98 | 23 | 58 [ 196 [ 212 | 64 | 52 [ 11.2]| 66 1/4 stroke | 204 | 220
80 M22x15 | 37 | 1/2 | 20 | 116 | 28 | 71 | 235 | 255 | 76 | 65 | 125 | 80 1/4 stroke | 244 | 264
100 M26x1.5 | 40 | 1/2 | 25 | 126 | 36 | 72 | 256 | 281 | 76 | 65 | 140 | 81 1/4 stroke | 265 | 290
Technical
Data

481



CA2 series

Double Clevis: CA2D

I
When the stroke is 1001 mm or longer, /
a tie-rod reinforcement ring is attached.

2 x Cushion valve

il

L
L

[

RR2
2xP
G G Hole dia.: CDH10 axd
Width across flats KA s 'Shaft dia.: CDd9 N
MM =T =REI= T ( ] ¥
Rt y (I 15
w Qi L 1 _ [ 1 @ . 4L olm
u - . : 25 : :
S P
. —) =
Width across flats B1 H1 —H
AL [24
A K RT N cz
F| | N c
H S + Stroke L B
Z + Stroke RR1
ZZ + Stroke
With rod boot
P o | —
TS ®
g g Jw
- o4 ]
10.2 ¢ f
h+¢
ZZ + ¢ + Stroke
(mm)
B‘z'n‘jnﬁ')ze A |AL| B |Bi| C |CDmo| CX |CZ| D | E | F | G | Hi J K | KA| L
40 30 | 27 60 | 22 44 10398 1533 295 | 16 32 10 15 8 M8 x 1.25 6 14 30
50 35 | 32 70 | 27 | 52 | 1273 189 38 20 | 40 | 10 | 17 | 11 M8 x 1.25 7 18 | 35
63 35 | 32 85 | 27 | 64 | 1697 2530 49 20 | 40 | 10 [ 17 [ 11 M10 x 1.25 7 18 | 40
80 40 | 37 [ 102 | 32 | 78 | 20%% | 31513 | 61 25 | 52 | 14 | 21 13 | M12x1.75 | 10 | 22 | 48
100 40 | 37 | 116 | # 92 | 259% | 3553 | 64 30 | 52 14 | 21 16 | M12x1.75 | 10 26 58
Bore size Without rod boot With rod boot
i) AL N P|RRRR| S |\ U o Tz d[e [ f[h ¢ z |2z
40 M14x15 | 27 | 1/4 | 10 | 16 84| 16 | 51 | 165 | 175 | 56 | 43 | 112 | 59 1/4 stroke 173 | 183
50 Mi18x1.5 | 30 | 3/8 | 12 | 19 90 | 19 | 58 | 183 | 195 | 64 | 52 | 112 | 66 1/4 stroke 191 | 203
63 M18x1.5 | 31 | 3/8 | 16 | 23 98 | 23 | 58 | 196 | 212 | 64 | 52 | 112 | 66 1/4 stroke | 204 | 220
80 M22x15 | 37 | 1/2 | 20 | 28 116 | 28 | 71 | 235 | 255 | 76 | 65 | 125 | 80 1/4stroke | 244 | 264
100 M26x1.5 | 40 | 1/2 | 25 | 235|126 | 36 | 72 | 256 | 281 | 76 | 65 | 14.0 | 81 1/4 stroke | 265 | 290

+ A clevis pin, flat washers and split pins are included.

482



Air Cylinder: Standard Type .
Double Acting, Single Rod CA2 Series

Center Trunnion: CA2T

Z + 1/2 stroke 2 x Cushion valve
B1 4xd Width across
X flats KA <(—;> 2xP [<(—;>
: MM =g 1] == CL
QL@ "t Y
© A | M\ ]
l=] = 077 YU ol wl of | o _@}___/ﬁ >@ = P
'g — Q{ k) (r:,_L S - \% - e —
B =) A CJ2
: Hi H s —
B A K T N
X F | N CM2
TZ H S + Stroke
ZZ + Stroke CM3
With rod boot CG3
Z + ¢ + 1/2 stroke —
ol o _ = |
| MB1
10.2 ¢
h+¢
ZZ + ¢ + Stroke CS1
(mm)
B"('n‘j nﬁ')ze A|AL| B |Bi|C|D|E | F | G| H J K | KA MM N| P | S
40 30 | 27 60 | 22 | 44 | 16 | 32 | 10 | 15 8 | M8x1.25 6 | 14 M14 x 1.5 27 | 1/4 | 84
50 35 | 32 70| 27 | 52 | 20 | 40 | 10 | 17 | 11 M8 x 1.25 7 | 18 M18 x 1.5 30 | 38 | 90
63 35 | 32 85 | 27 | 64 | 20 | 40 | 10 | 17 | 11 | M10x1.25 7 | 18 M18 x 1.5 31 [ 358 | 98
80 40 | 37 | 102 | 32 | 78 | 25 | 52 | 14 | 21 13 | M12x1.75 | 10 | 22 M22 x 1.5 37 | 12 | 116
100 40 | 37 [ 116 | #1 92 | 30 | 52 | 14 | 21 16 | M12x1.75 | 10 | 26 M26 x 1.5 40 | 12 | 126
Bore size Without rod boot With rod boot
(mm) Tee | TT X | T | T2 4T 7722 d ] e [h ‘ zZ [ zz
40 1523532 22 85 | 62 | 117 | 51 93 | 140 | 56 | 43 | 112 | 59 1/4 stroke 101 | 148
50 1520932 22 95 | 74 | 127 | 58 | 103 | 154 | 64 | 52 | 112 | 66 1/4 stroke 111 | 162
63 182393 28 | 110 | 90 | 148 | 58 | 107 | 162 | 64 | 52 | 11.2 | 66 1/4 stroke 115 | 170
80 PER008) 34 | 140 | 110 | 192 | 71 | 129 | 194 | 76 | 65 | 125 | 80 1/4 stroke 138 | 203
100 2529949 40 | 162 | 130 | 214 | 72 | 135 [ 206 | 76 | 65 | 14.0 | 81 1/4stroke | 144 | 215
* Do not disassemble the trunnion type. Refer to page 525.
Technical
Data

483



CA2 series

Trunnion and Double Clevis Pivot Bracket

* Strength is the same as cylinder brackets.

Applicable Series

Bracket type Applicable series Descrpton s °“°|  CA20140 ‘ CA20J50 | CA20J63 | CA20180 ‘ CA2(1100
Trunnion pivot bracket CA2 Trunnion pivot bracket CA2-S04 CA2-S06 MB-S10
Double clevis pivot bracket CA2 Double clevis pivot bracket CA2-B04 CA2-B05 CA2-B06 CA2-B08 CA2-B10
+ Please contact SMC at the time of mounting. = Order 2 trunnion pivot brackets per cylinder.
4x0TT

Trunnion pivot bracket TE

- - 4xoTR
Material: Cast iron TO TX TO Z + 1/2 stroke

(=) w .
SN
[=
a0
| 2}
(mm)
Bore size
Part no. (mm) TA TL TU | TC X TE | TO | TR TT TS TH TF TY Z |TD-H10 (Hole)
4 80 | 60 10 | 102 85 | 119 | 17 9 17 12 45 60 62 93 15 307
CA2-504 |20
50 80 | 60 10 | 112 95 | 129 | 17 9 17 12 45 60 74 | 103 159
CA2-S06 63 100 | 70 15 | 130 | 110 | 150 | 20 | 11 22 14 55 73 90 | 107 18 *5°"°
MB-S10 80 120 | 90 15 | 166 | 140 | 192 | 26 | 135 | 24 17 75 | 100 | 110 | 129 25 *50%
100 120 | 90 15 | 188 | 162 | 214 | 26 | 135 | 24 17 75 | 100 | 130 | 135 25 5%

Double clevis pivot bracket
Material: Cast iron

Z + Stroke

'y
o
Rotating Angle
Bore size (mm) | A° | B° A° + B° + 90°
40 to 100 12° | 60° 162°
(mm)
Bore size
Part no. (mm) DA DL | DU | DC | DX | DE | DO | DR | DT | DS | DH DF B Z |DDH10 (Hole)
CA2-B04 40 57 35 | 11 65 | 15 85 | 10 9 17 8 40 52 60 | 165 10 "5
CA2-B05 50 57 35 | 11 65 | 18 85 | 10 9 17 8 40 52 70 | 183 12 447
CA2-B06 63 67 40 | 135 | 80 | 25 105 | 125 | 11 22 10 50 66 85 | 196 16 97
CA2-B08 80 93 60 | 165 | 100 | 315 | 130 | 15 135 | 24 12 65 90 | 102 | 235 20 38
CA2-B10 | 100 93 60 | 165 | 100 | 355 | 130 | 15 135 | 24 12 65 90 | 116 | 256 25 *oet

484



CA2 series
Dimensions of Accessories

Y Type Double Knuckle Joint

Shaft diameter: gNDus Split pin Material: Cast iron (mm)
Hole diameter: sND. o : -
ole dameer o e Flat washer: Plshed oud - pgy no, | APPICEe | Ay 1Eq | Dy|Lt| MM [Ra|Ur|ND| NX |Nz| L | SPlitpin | Flatwasher | GJq
MM . —_—
Y-04D| 40 |22]24|10|55 M14x15|13|25|12|16133| 38|55 03 x 181 | FOIehed CJP
w XIN| 4
° ut == Y-05D| 50, 63 | 27| 28 | 14| 60 | M18 +03 poished | CJ2
] - ! x15 15|27 1216 153 | 38 [55.5| 03 x 18L |  ° 0 L——
CI 0.3 Polished JCM
+0..  —
A U Y-08D| 80 |37|36|18|71|M22x15|19|28|18|28 3755|765 04x25L | ‘o0 ———
L1 CMZ
+0.3 Polished —
/ W Y-10D| 100 |37 (40 21|83 |M26x15|21(38|20|30 07|61 |83|ed4x30L| " io o3
\ \W = A knuckle pin, split pins and flat washers are included. e —
Clevis Pin/Knuckle Pin CG3
Material: Carbon steel (mm) JMB
Applicable bore size d Included | Included
2xod § Part no. Clevis Knuckle 2 ) = m Diltwough| ~ split pin | flat washer MB
Q
17 CDP-2A| 40 — 103942 | 46 | 38 | 4 | 3 | @3x18L |Polished round 10 MB1
) . CDP-3A| 50 [40,50,63| 129550 (555 |47.5| 4 | 3 | @3x18L |Polshedround 12
m L. CDP-4A| 63 — 16383 | 71 | 61 | 5 | 4 | e4x25L |Polishedround 16
L1 CDP-5A| — 80 |18759% |765|665| 5 | 4 | e4x25L |Poishedround18 —————
CDP-6A| 80 100 [2020%%5| 83 | 73 | 5 | 4 | @4x30L |Polshedround20 CS1
CDP-7A| 100 — |253%° | 88 | 78 | 5 | 4 | @4x36L |Polishedround 24 70 S
+ Split pins and flat washers are included. 2
I Type Single Knuckle Joint Rod End Nut (Standard)
—
o d
NDH10 -
MM S \ ]
45C\?g~
i (65 Q o
U1 | ]
H B
Material: Free cutting sulfur steel (mm) Material: Rolled steel (mm)
partno AP | A | Ay Ev L | MM | Ri|Ut| NDuo | NX Part no.| APPlicable d H B | C | D
ore size bore size
1-04A| 40 |69 |22| 24|55 |Mi4x15/155] 20 [12°997° | 16 203 NT-04 40 M14x1.5 8 22 25.4 21
1-05A| 50, 63 | 74 | 27 | 28 | 60 | M18x1.5|15.5| 20 [12°9°7° | 16 203 NT-05| 50, 63 M18 x 1.5 11 27 31.2 26
1-08A] 80 |91[37 36|71 |M2x15]/225] 26 [18*5°7°[28 5 NT-08 80 M22 x 1.5 13 32 37.0 31
I-10A| 100 [105| 37 | 40 | 83 | M26x1.5|245| 28 [20*3-9%* | 30 233 NT-10 100 M26 x 1.5 16 41 47.3 39
Technical
Data

485 ®



CA2 series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Band mounting> <Tie-rod mounting>
D-B501/B64/B59W D-M9LI/MOLIV D-Y59L1/Y69LI/Y7P/Y7PV
D-MoLwW/M9OL 1wV D-Y7LIW/Y7LIWV CJ1
Auto switch ~Hs D-MOLIA/M9OLIAV D-Y7BA P
— P . D-A9C1/A9LIV D-Z701/Z80 CJP
H T T &'y!‘@ A i
A O g .ﬂl;‘"i"i\ﬁﬂ LA Auto switch
de B ol e CJ2
SR _Es QH© WIS —
A_|_ 33 ] ] =] JCM
=l el | (H
H 1 {15
D-A3[] 2.8 CM2
D-G39/K39 G1/2 D-A5[1/A6L] .
A 49 (Applicable cable O.D.) #6.8 to 9.6 D-AS9W _ Auto switch CM3
36 B ~Hs & - - ?qj CG1
= e 5]
&
ol <] £ %-‘ Em %L{E% CG3
o ®|T /i8]
E = A,].s3 LB e
= LI
D-G39C/K39C JMB
D-A3LIC G1/2 —
D-G5[1/K59 D-G5BA "
A 49 (Applicable cable O.D.) 86.8 to 99.6 MB
D-G51W/K59W D-G/\StQFIQtiNT 3 / B |
uto switcl _ S e
FE T E
i~ R
& 2| i
=Wl =
= o = - g
A_|_33 = _1.B sl =
S/ 15—
D-Ad4 D-F5[1/J59 D-F5(1W/J59W ==
) G1/2 D-F5NT D-F5BA/F59F
(Applicable cable O.D.) 26.8 to 911.5 Auto switch
~H 2 DR i
Are Tt D) .y
=] ) i S %
c -1 g [ %“)‘: o %ﬁ_ﬁi%
) s=ls ST ﬁ"”f.ﬁ A, 30 B
SIS, S D
B - D-A44C G1/2
A A 495 (Applicable cable O.D.) 26.8 to 811.5
36

e —

=i ENRN SR i =
S 'U:g
=) 1 (H
i tE=
D-P3DWA
D-P3DW
A» - Auto switch
= ks
SIS
20l B
D-P4DW Auto switch
s o e D-OJ
O l ; M = S =) - O T D)
&l SRS NISC/ARE, -
_ T G =
L o RS Technical
S s Data




CA2 series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Standard type) (mm)
Auto D-Y5901 D-G39
switch D-Y6901 D-G39C | b a5
model | p-M9C] D-Y7P D-F50] D-K39 | o'pco
DMOCW | D-AsC | DYILW D.FaoF D-Ase | DGSNT | oo
D-MOCWV | D-AlV | D-y7owy | D-PSDWA | D-PADW | g gy | D-FSNT | D-ASSW | pgry | D-GSW | .geg
D-M9TIA D-Y7BA D-J59W D-A30 | prerEa
D-M9TIAV D-z701 D-F5BA D-A3CIC | " oF
D-Z80 D-A44
Bore D-B59W D-A44C
size A[B|A[B[A|[B|A[B|[A[B|[A[B|A[B|A|[B|[A[B|A[B|[A][B
40 9 [ 9 [ 5 [ 5 | 25| 25| 45| 45[ 2 [ 2 55| 55/105[105[ 3 | 3 |o [o 1] o |o
50 95| 85| 55| 45| 3 [ 2 5 [ 4 | 25[15[ 6 | 5 [11 [10 | 35] 25[0 [0 15/ 05 [0 [o
63 |[125[115] 85| 75| 6 | 5 8 | 7 | 55[45] 9 | 8 [14 [13 | 65| 55[ 25 | 15| 4535 |3 |2
80 |165[135[125] 95[10 [ 7 |12 | 9 [ 95[ 65|13 |10 |18 [15 [105]| 75|65 [ 35| 85| 565 |7 | 4
100 [18 [16 |14 [12 [115] 95 [185|115|11 [ o [145|125[195][175]12 |10 [8 |6 |10 [ 8 | 85] 65
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Proper Mounting Height (Standard type) (mm)
Auto D-G50
switch D-K59
model D-Y590] D-G5NT ey
D oy |D-mev Dy, [D-Yeso D w| D-G39 D-F50W|D-A50 |D-G39C
D-MoCIA [P MOOWVID-A9LIV| o7y o=y, |D-Y7PV |D-P3DWA| D-PADW| o ~on ) | D-K39 | D-Ad4 | D-J59W |D-A601 |D-K39C | D-A44C
D-AoL) | P-MODAV D-z70y |D-Y7TOWV D-GagF | D-A3D D-F5BA |D-A59W|D-A3CIC
D-F59F
D-Z80 D-B501 D-F5NT
D-B64
Bore D-B59W
size Hs | Ht |[Hs | Ht |Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht
40 30 [ 3034 [30 31 [30 30 [30 [30 [30 [37.5] 35 [425]33 | 37 715 81.5 |38 [31.5/385[31.5/ 73 | 69 81 | 69
50 34 34 |38 34 |35 34 |34 |34 |34 |34 |41.5| 39 |46.5|37.5 42 76.5 86.5 |42 [35.5|42 |35.5| 785| 77| 86.5| 77
63 4 41 |44 41 |41.5| 41 |41 |41 |41 |41 |50 41 |52 |43 49 83.5 93.5 |47 |43 |46.5/43 855| 91| 935| 91
80 [49.5] 49 [52.5| 49 [50 | 49 [49.5/49 |49.5[49 |58 | 49 |58.5[51.5] 57.5 92 102 [53.5|51 [53.5]51 |94 [107[102 [ 107
100 [56.5] 56 |61 | 56 |58.5] 56 |56.555.5|57.5/55.5/66 | 56 |66 |58.5] 68 1025 | 1125 |61 |57.5]61.5]57.5[104 [121]112 [121

518



Auto Switch Mounting CA2 Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Non-rotating rod type, With end lock) (mm)
Auto D-Y5901 D-G39
switch D-Y69[1 D-G39C | a5
model | p-M9C] D-Y7P D-K39 D-K59 D-F500
B |morm | D-Ass | D-GSNT | [ oo T C
D-MOCWV |D-ASCV | D-y7owy | D-PSDWA | D-PADW | ey | D-GSCW | ggy | p.psw | D-FSNT | D-ASSW | ———
D-M90JA D-Y7BA D-A30 | "eoba D-J59W CJP
D-M9LIAV D-B59W D-A30IC | b ceoF D-F5BA e
D-z70] D-A44
CJ2
Bore D-Z80 D-A44C
sze. \A|B|A[B|[A|B|A|B|A|B|[A|[B|A|B|A|B|A|[B|A[B|A|B |
40 10 8 6 4 4 1 5.5 3.5 35| 05 0.5 0 2.5 0 1 0 7 4 12 9 4.5 15 JCM
50 |10 8 6 4 35| 15| 53] 35| 3 | 1 0 0 2 0 05| 0 65| 45[115] 95| 4 e
63 125|115| 85| 75| 6 5 8 7 55| 45 | 25| 15| 45| 35 | 3 2 9 8 |14 |13 65| 55| (CM2
80 16 14 12 10 9.5 75 | 11.5 9.5 9 7 6 4 8 6 6.5 45 | 125|105 | 175 | 155 | 10 8 e —
100 | 175|165 135][125][11 [10 [13 [12 [105| 95| 75 | 65| 95 [ 85 | 8 7 |14 [13 [19 [18 [115]105 CM3
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
. . . . . CG1
Auto Switch Proper Mounting Height (Non-rotating rod type, With end lock) (mm) —u
Auto D-G50 CG3
switch D-K59
model D-Y590] D-G5CW D-FSLI JMB
D-MoC] D-Y7P D-K50W Lokt
D-MOCIW D-M9C1V D-Y7OOW D-Y69[] D-G59F D-G39 D-F50W|D-A51 |D-G39C —
D-MoCIA [P MOOWV|D-A9CIV| pvop | D-Y7PV |D-P3DWA| D-PADW| o <o) | D-K39 | D-Ad44 |D-J59W |D-A601 |D-K39C | D-A44C| |MB
D-M9CIAV D-Y7OWV D-A30 D-F59F |D-A59W|D-A3CIC
D7 Dcet v
D-Bod D-F5NT MB1
D-B59W
Bore
size Hs | Ht |Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht
40 [30 |30 (34 [30[31 |30 (30 [30 [30 [30 |37.5] 35 [42.5/33 37 715 815 [38 [31.5]38.5/31.5/73 | 69|81 | 69
50 34 34 |38 34 |35 34 (34 (34 |34 |34 |41.5| 39 |46.5|37.5 42 76.5 86.5 |42 |35.5|42 |35.5| 78.5 77| 86.5| 77 CS1
63 |41 |41 [44 [41]415] 41 [41 [41 |41 |41 [50 | 41 [52 [43 49 83.5 93 [47 [43 |465/43 [ 855 91]935 91| ———
80 [49.5| 49 [52.5] 49 |50 | 49 [49.5/49 [49.5/49 [58 | 49 |58.5|51.5] 57.5 92 102 |535|51 535|651 | 94 |107 102 |107| |GS2
100 |56.5| 56 |61 | 56 |58.5| 56 |58.5/55.5/57.5|55.5/66 | 56 |66 |58.5| 68 1025 | 1125 |61 |57.5(61.5/57.5/104 [121[112 [121| ———
D-J
-X[]
Technical
Data

519




CA2 series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (Air-hydro type) (mm)
Auto D-Y5901 D-G39
switch D-Y691 D-G39C D-G50]
model| p-M9C] D-Y7P D-K39 D-K59 D-F50]
D-M9OIV D-Y7PV D-K39C D-G5NT D-J59
D-M9OW | D-A90C] D-Y7OW D-A50 D-B50] D-F59F
D-MOOWV D-A9DV | D-y7owy | DP3DW | D-PADW g pery | DO | ggy | p.psiw | D-FSNT | D-ASSW
D-M9CJA D-Y7BA D-A30C] D-G5BA D-J59W
D-M9CJAV D-B59W D-A30IC D-G59F D-F5BA
D-z700 D-A44
Bore D-Z80 D-A44C
size A B A B A B A B A B A B A B A B A B A B A B
40 95| 85| 55| 45| 35| 15| 55 | 35 | 3 110 0 2 0 05| 0 65| 45|115| 95| 4 2
50 10 8 — | — | 35| 15| 55| 35| 3 1 0 0 2 0 05| 0 65| 45[115| 95| 4 2
63 125[115| 85| 75| 6 5 |3 15| 55| 4 | 25| 15| 45| 35| 3 2 9 8 [14 |13 65| 55
80 16 |14 [12 |10 95| 75| 6 45 | 9 7 | 6 4 8 6 65 | 45 | 45|125| 175|155 10 8
100 |175[165[135[125[11 [10 | 8 65 105 9 | 75| 65| 95| 85| 8 7 |14 [13 [19 [18 [115] 105
* D-A90 and D-A901V types cannot be mounted on @50.
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Proper Mounting Height (Air-hydro type) (mm)
Auto D-G501
switch D-K59
model D-Y590] D-G5NT o
D oy [D-mev DT |D-veer D | D-G39 D-F500W|D-A50 |D-G39C
D-M9CIA D-M9OWV|D-A9C1V D-Y7OW D-Y7PV |D-P3DW|D-P4DW D-G5BA D-K39 | D-A44 |D-J59W |D-A6[1 |D-K39C | D-A44C
D-M9UIAV D-Y7OWV D-A30C] D-F5BA |D-A59W|D-A3C1C
D-A90] D-z701 D-G59F
D-F59F
D-Z80 D-B50 g
D-B64
Bore D-B59W
size Hs | Ht |Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht
40 (30 [30 (35 |30 (32 |30[30 [30 |30.5/30 |38 | 30|43 [335 38 72.5 825 [38.5/31 |40 [31 |73 | 69|81 | 69
50 (34 (3439 [ 34| — | — (34 [34 |35 [34 |42 | 34| 47 |38 435 78 88 |42.5/35 |435|35 | 785 77| 865| 77
63 (41 | 4146 | 41 [435| 41 [41 |41 [425(41 | 49 | 41 | 53 |44 50.5 85 95 |48 |42 |49 [42 | 855| 91| 935 91
80 |49.5| 49 |54 | 49 [51.5| 49 |49.5/48.5|51 [48.5| 56 | 49 | 60 |52 59 93.5 1035 |54 [50 |55.5|50 | 94 |107 102 [107
100 |57 | 56 |62.5| 56 |59.5| 56 |58.5/56 |59 |56 | 65 | 56 | 67 |59 69.5 104 114 |62 [57.5/63 |57.5/104 |121 [112 |121
+ D-A90 and D-A901V types cannot be mounted on @50.
Operating Range
- —
(mm)
A T Bore size i a— Bore size
uto switch mode uto switch moae
40 50 63 80 100 40 50 63 80 100
D-M9/M9IV D-Y5901/Y6901
D-MOOIW/MOCIWV 45 5 55 5 6 D-Y7P/Y70V 8 7 5.5 6.5 6.5
D-M9TIA/MOTIAV D-Y7O0W/Y7OWV ' ' '
75 8.5 9.5 9.5 10.5 D-Y7BA
D-A91/A9CIV : : : : : D-F501/J59/F500W
% - ©) ©) ©) D-J59W/F5BA 4 4 45 45 45
D-Z701/280 8.5 7.5 9.5 9.5 10.5 D-F5NT/F59F
D-G50/K59/G500W
g:ﬁgg’é}f&“c D-K59W/G5BA 5 6 6.5 6.5 7
D-A50/A60] D-G39/K39 9 9 10 10 "
D-B501/B64 D-G39C/K39C
D-P3DWA 45 45 55 5.5 5.5
D-A59W 13 13 14 14 15 D-P3DW Now& 3) 15 5 5 55 p
D-B59W 14 14 17 16 18 D-P4DW 4 4 45 4 45

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially
depending on the ambient environment.

Note 1) (): For CDA20H and CDA2W[IH Series.

Note 2) D-A90 and D-A901V types cannot be mounted on @50 of the CDA2CH and CDA2WCIH series.

Note 3) Applicable to the CDA200H and CDA2WOH series.

® 520



Auto Switch Mounting CA2 Series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of Brackets other than Center trunnion
model auto switches center trunnion 240 ‘ 250 263 080 2100
2 (Different surfaces 15 80 85 % 95
D-M9CI and same surface) 1
D-MOCIW . 15+40 2 80+ 40024 85+4005% | 90440022 | g5.4002%
(nN=2,4,6,8- )Note1 (n=4,8, 12, 16...)Note ) (n=4,8,12,16-)N0e2) | (n = 4,8, 12, 16-)Nte2)| (n = 4, 8, 12, 16...) Nole2)
2 (Different surfaces 10 55 60 65 70
D-MoCIV and same surface) 1
D-M9CIWV N 10+30052 55+ 30 54 60+3005% | e54+3005% | 70.3005%
(n=2,4,6,8- )N"‘e1 (n=4,8,12, 16 -) Note 2) (n=4,8,12,16-)Note2) | (n =4, 8,12, 16-- )NO‘“ (n=4,8,12,16- )Nme2
2 (Different surfaces 15 80 85 95 100
and same surface) 1
D-M9UIA n—2} n—4[ n-4 n—4[ n—4
n 15+ 40 80 + 40 85+40°— 95 + 40 100 + 40
(n=2,4,6,8- )N°‘51 (n=4,8,12, 16 -) Note 2) (n=4,8,12,16-)Ne2) | (n =4, 8, 12, 16~ )N°'92 (n=4,8,12,16- )N°"’2
2 (Different surfaces 10 60 65 70 75
and same surface) 1
D-M9CJAV _ _ _ _ _
. 10+30052 60 +30 54 65+3005% | 70430059 | 75,3002
(n=2,4,6,8- )Nme1 (n=4,8,12, 16...) Note2) (n=4,8,12,16-)Ne2) | (1 = 4,8, 12, 16-)Ne2) | (n = 4, 8, 12, 16-..) Note2)
2 (Different surfaces 15 75 80 85 %
and same surface) 1
D-A90] _ _ _ _ _
. 15+ 40052 75+ 40 054 80+4005% | g544005% | go4403Y
(n=2,4,6,8- )Note1 (n=4,8,12, 16 ) Note 2) (n=4,8,12,16-)Ne2) | (n=4,8, 12, 16-) N2 (n = 4,8, 12, 16- )Note2
2 (Different surfaces 10 50 55 60 65
and same surface) 1
D-A90IV _ _ _ _ _
. 10+3052 50+ 30 54 55430054 | e0+3005% | e543005%
(n=2,4,6,8- )Note1 (n =4, 8,12, 16...)Note2) (n=4,8,12,16-)N0e2) | (n = 4,8, 12, 16-)N'e2)| (n = 4, 8, 12, 16...) Note2)
D-F501/J59 2 (Different surfaces 15 9% 100 110 120
D-F500W/J59W and same surface) 1
D-F5BA/F59F n—2 n—4 n-4 n—4 n—4
D_Ag DI}\I/\ 659 n (Same surface) 15 + 55 90 + 55 100 + 555 110 + 55 120 + 55
n=2,4,6,8..)Note1) n=4,8, 12, 16 Note 2) n=4,8,12,16.)Nt2 | (n =4, 8, 12,16 N"tez n=4,812 16 Nmez
( )
2 (Different surfaces 25 110 120 130 140
and same surface) 1
D-F5NT _ _ _ _ _
n (Same surface) | 25+ 5552 110+ 55 (54 120455054 | 13045504 | 140455054
(n=2,4,6,8..)Note 1) (n=4,8,12,16..)Note?) (n=4,8,12,16-)N2 | (1=4,8, 12, 16-- )Notez (n=4,8,12,16- )Notez
2 (Different surfaces 20 % 100 110 120
and same surface) 1
D-A59W  (Same surface) 20+550>2) 90 + 55 54 100455054 | 110455054 | 120455054
(N=2,4,6,8- )Nme1 (n=4,8,12,16...)Note2) (n=4,8,12,16.-)Noe2 | (n = 4, 8, 12, 16- )Notez (n=4,8,12,16-- )Note2
1 15 90 100 110 120
D-G501/K59 2 Different surfaces 15 90 100 110
D-G500W Same surface 75
D-K59W Different surfaces| 15+ 50 "5 90+ 50 2>4) 100 + 50 1>4) 110+ 50 254
D-G5BA n (n=24,6,8- )Note1 (n=4, 8, 12, 16..-) Note 2) (n=4,8,12, 16--)Note2) (n=4,8,12, 16...)Note 2)
g'gg?"_:r Same surface | 73 +50(1=2) 90 + 50 (n - 2) 100 + 50 (n - 2) 110+ 50 (n - 2)
D:BSD/BM (n=2,3,4-) (n=2,4,6,8.)Note ) (n=2,4,6,8.)Noe ) (n=2,4,6,8-)Note D)
1 10 90 100 110
Different surfaces 20
2 Same surface 75 %0 100 110
. 20+50 52 90 +50 54 100 + 50 0524) 110+ 50154
Different surfaces 2
D-B59W n (n=2,4,6,8- )Nme1 (n=4,8,12,16...)Note2) (n=4,8, 12, 16 Noe2) (n=4,8,12,16...)Note2)
Same surface | 73 +50(1=2) 90 + 50 (n-2) 100 + 50 (n - 2) 110 + 50 (n - 2)
(n=2,34-) (n=2,4,6,8..)Note ) (n=2,4,6,8.)Note 1) (n=2,4,6,8.)Noe
1 15 90 100 110

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

521

ot
P
oz
o
o
o
oot
o3
me
we
VB

CS1
CS2

D-UJ
-XUJ

Technical
Data




CA2 series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

n

(n=2,4,6,8- )Nme1

(n=4,8,12,16.-)Note 2)

Auto switch Number of Brackets other than Center trunnion
model auto switches center trunnion 240 [ 250 263 280 ‘ 2100
2 Different surfaces 35 75 80 90
Same surface 100 100 100 100
D-G39 ) 35+30 (n-2) 75+30 (n-2) 80 + 30 (n - 2) 90 +30 (n-2)
D-K39 ) Different surfaces | " _ 5 3, 4... (n=2,4,6,8.)Note 1) (N=2, 4,6, 8.)Note 1) (N=2,4,6,8.)Note 1)
D-A30 Same surface | 100+ 100 (0-2) 100 + 100 (n - 2)
(n=2,3,4-) (n=2,4,6,8-..)Note 1)
1 10 75 80 90
Different surfaces 35
2 7
Same surface 55 S 8 %
Different surfaces| 35 +30(1=2) 75+ 30 (n - 2) 80 + 30 (n - 2) 90 +30 (n-2)
D-A44 . (n=234") (n=2,4,6,8-)Note 1) (n=2,4,6,8-)Nte) (n=2,4,6,8)Note 1)
Same surface | 55 +50(1=2) 75 + 50 (n - 2) 80 + 50 (n - 2) 90 +50 (n - 2)
(=234 (n=2,4,6,8)Noe1 (n=2,4,6,8-)Noe ) (n=2,4,6,8.)Note )
1 10 75 80 90
2 Different surfaces 20 75 80 90
Same surface 100 100 100 100
g'ﬁggg Different surfaces| 20+35(1=2) 75+ 35 (n - 2) 80+ 35 (n-2) 90+35(n-2)
D-A3LIC . (=23 4-) (n=2,4,6,8.)Nte ) (1=2,4,6,8-)Nle ) (n=2,4,6,8)Nte )
Same surface | 100+ 100(1-2) 100 + 100 (n - 2)
(n=2,3,4,5-) (n=2,4,6,8-)Note)
1 10 75 80 90
Different surfaces 20
2 7
Same surface 55 ° 8 %
Different surfaces| 20+ 35 (=2 75+ 35 (n - 2) 80 + 35 (n - 2) 90 +35(n-2)
D-A44C . (n=2,3,4-) (n=2,4,6,8-)Note (N=2,4,6,8.)Note) (n=2,4,86,8-)Note1)
Same surface | 55 +50(1=2) 75 + 50 (n - 2) 80 + 50 (n - 2) 90 +50 (n-2)
(n=2,3,4) (n=2,4,6,8-)Note (n=2,4,6,8-)Noe ) (n=2,4,6,8.)Note )
1 10 75 80 90
2 (Different surfaces
D-Y59C1/Y7P | and same surface) 1 15 80 85 90 95 105
D-Y7OW _ _ _ _ _ _
B \ 15+ 40052 80+ 40 054 85 +40 054 90 + 40154 95+405% | 105+ 4005%
(n=2,4,6,8- )Nme1 (n=4,8,12,16- )NOtez (n=4,8,12,16- )NM (n=4,8,12,16-- )Nmea (n=4,8,12, 16 )Nc'e2 (n=4,8,12,16- )Nclez
s |0 s s z z
D-Y69LI/Y7PV
D-Y7OWV \ 10+30052 65+ 30 54 75+3005% | go+30059 | 9043005 %
(n=2,4,6,8- )Nv'e1 (n=4,8, 12, 16...) Nete2) (n=4,8,12,16-)N%2) | (n = 4,8, 12, 16-- )NM (n=4,8,12,16- )NM
2 (Different surfaces 20 95 100 105 110
and same surface) 1
D-Y7BA _ _ _ _ _
N 20+ 45052 95+ 45054 100+45 054 | 105445058 | 410445052
(N=2,4,6,8..)Note1) (n=4,8,12,16...)Note2) (n=4,8,12,16- )Notez (n=4,8,12,16-- )N°le2 (n=4,8,12,16..)Noe2)
2 (Different surfaces 15 85
and same surface) 1
D-P3DWA _ _
3 15+50 052 85+50 1%

D-P3DW Note 3)

2 (Different surfaces

D-P4DW

and same surface) 1 15 85
n 15+50 (052 85+ 50 >4
(n=2,4,68- )“"“31 (n=4,8,12,16.-)
2 same surface) 1 15 120 120 140
N 15+ 65052 120+ 65 254 130 + 65 054 140+ 65 054

(n=2,4,6,8-)Noe

(n=4,8, 12, 16..)Note2)

(n=4,8,12, 16 )Notez

(n=4,8,12, 16...)Note 2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.
Note 3) Only applicable to the CDA2C0H and CDA2WUIH series.

522



Auto Switch Mounting Brackets/Part No.

<Tie-rod mounting>

Auto Switch Mounting CA2 Series

Auto switch Bore size (mm)
model 40 50 63 80 100
D-M9I/M9CIV
D-M9OIW/MOOIWV
D-MSA/MITIAY | BA7-040 | BA7-040 | BA7-063 | BA7-080 | BA7-080 CcJ1
D-A9C/A9CIV —
D-F501/J59 CJP
D-F5C0W/J59W —
D-F59F/F5NT BT-04 BT-04 BT-06 BT-08 BT-08 c J2
D-A5C1/A601
D-A59W JCM
D-G39C/K39C
D-A3CIC/A44C BA3-040 | BA3-050 | BA3-063 | BA3-080 | BA3-100
D-Y5901/Y690] cM2
D-Y7P/Y7PV L
BZV%VKN7DWV BA4-040 | BA4-040 | BA4-063 | BA4-080 | BA4-080 * The figure shows the mounting example for the D-M9TI(V)/MILIW(V)/ CM3
M9ODTIA(V)/A901(V) types.
D-Z701/Z80 P
D-P3DWA BK7-040S | BK7-040S | BA10-063S | BA10-080S | BA10-080S CG"
D-P3DW Note 2) |BMB9-050S|BMB9-050S| BA9T-063S | BA9T-080S | BA9T-080S —
D-P4DW BAP2-040 | BAP2-040 | BAP2-063 | BAP2-080 | BAP2-080 CG3
<Band mounting> —
Except air-hydro type Air-hydro type JMB
Auto switch Bore size (mm) Auto switch Bore size (mm)
model 40 50 63 80 100 model 40 50 63 80 100 | |MB
D-G39/K39 D-G39/K39 —
D-A3C1/A44 BDS-04M | BDS-05M | BMB1-063 | BMB1-080 | BMB1-100 D-A3C1/A44 BD1-04M | BD1-05M | BD1-06M | BD1-08M | BD1-10M MB1
D-G50/K59 D-G501/K59 —
D-G50W/K59W D-G500W/K59W
g:ggz’; BH2-040 | BA5-050 | BAF-06 | BAF-08 | BAF-10 g:gg?ﬁr BA-04 BA-05 BA-06 BA-08 BA-10
D-B501/B64 D-B5C1/B64 CS1
D-B59W D-B59W —
Note 1) Auto switch brackets are included in the D-A3CIC/A44C/G39C/K39C types. Specify the part number as follows depending on the cylinder size when ordering. csz
(Example) 940: D-A30C-4, 950: D-A30IC-5, 63: D-A301C-6, 80: D-A30IC-8, 8100: D-A3LJC-10
[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit (including set screws) is also available. Use it in accordance with the operating environment.
(Since the auto switch mounting bracket and band are not included, order them separately.)
BBA1: For D-A5/A6/F5/J5 types
BBAS3: For D-B5/B6/G5/K5 types
Note 2) Only applicable to the CDA2C0H and CDA2WUIH series.
Note 3) Refer to pages 1681 and 1689 for details on the BBA1 and BBA3.
The above stainless steel screws are used when a cylinder is shipped with D-F5BA or G5BA auto switches. When only an auto switch is shipped independently, the BBA1 or BBA3 is attached.
Note 4) When using the D-M9IA(V) or Y7BA, do not use the steel set screws which are included with the above auto switch mounting brackets (BA7-0000, BA4-
00O0). Order a stainless steel screw kit (BBA1) separately, and use the M4 x 6 L stainless steel set screws included in the BBA1.
Note 5) There is a difference in the cylinder tube thickness depending on the cylinder model. Use caution when a band mounting type is used as an applicable auto switch and a cylinder model is changed.
"""'"".'"""."'.".':""",,""'.'""T"""""
 Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
I Refer to pages 1575 to 1701 for the detailed specifications. I
1 Type Model Electrical entry Features 1
1 D-M9NV/M9PV/M9BV _ 1
1 D-Y69A/Y69B/Y7PV 1
1 D-MINWV/M9PWV/M9BWV Grommet (Perpendicular) Diagnostic indication 1
1 D-Y7ZNWV/Y7PWV/Y7BWV (2-color indicator) 1
1 D-M9NAV/M9PAV/M9BAV Water resistant (2-color indicator) 1
D-Y59A/Y59B/Y7P
1 i — 1
" Solid state D-F59/F5P/J59 "
1 D-Y7ZNW/Y7PW/Y7BW Diagnostic indication 1
1 D-F59W/F5PW/J59W Grommet (In-line) (2-color indicator) I
1 D-F5BA/Y7BA Water resistant (2-color indicator) 1
1 D-F5NT/G5NT With timer 1
1 D-P5DW Magnetic field resistant (2-color indicator) 1
D-A93V/A96V —
1 i 1
" Reed D-A90V Grommet (Perpendicular) Without indicator light | —
1 D-A53/A56/B53/273/276 Grommet (In-line) — 1 D.D
1 D-A67/Z80 Without indicator light | ——
1 * With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1648 and 1649. 1 _XD
* Normally closed (NC = b contact) solid state auto switches (D-F9G/FOH/Y7G/Y7H) are also available. For details, refer to pages 1593 and 1595.
| Techmica
Data

523 ®



CA2 series
Made to Order: Individual Specifications

Please contact SMC for detailed dimensions, specifications and lead times.

Symbol
Bl cylinder with Heat Resistant Reed Auto Switch (~10 to 120°C) -X1184
Applicable Series
Description Model Action Note
Standard type CA2 | Double acting, Single rod
How to Order
CDAZ2 | Standard model no. | Z -| Pivot bracket | | Rod end bracket | - | Heat resistant reed auto switch - X1184

Switch modell

Symbol| Description

Nil | Without switch
B30 D-B30
B30J D-B30J
B31 D-B31 Number of switches
B31J D-B31J Symbol | Description
B35 D-B35 S 1 pc.
B35J D-B35J Nil 2 pes.

Cylinder with heat resistant reed auto switche®

* For details about auto switches, refer to page 1671.

Specifications
Ambient temperature range -10°C to 120°C Awarning
Seal material Fluororubber Precautions
Grease Heat resistant grease

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.

Dimensions (pimensions other than below are the same as standard type.)

: —Ar P 2= = =
| A=A e i
A

EIE e f e

; SISO, £, WO} A

Sid H L] S H

42
= Hs
RA 69 Re
S + Stroke
ZZ + Stroke
(mm)
. Minimum mounting stroke Auto switch mounting bracket
Bore size
“ - i 30 E & Other than center trunnion Center trunnion part number

40 575 | 4 13 99 | 161 180 st or more BD1-04M
50 625 | 4 13 105 | 174 | 1 pc. : 50 st or more 180 st or more BD1-05M
63 69 7 16 113 | 185 | 2 pcs.: Different surfaces 50 st or more | 190 st or more BD1-06M
80 78 55 | 235 | 131 | 219 | 2 pcs.: Same surface 220 st or more 200 st or more BD1-08M
100 885 | 75 | 2565 | 141 230 210 st or more BD1-10M

® 524



CA2 series
e Specific Product Precautions
Be sure to read this before handling the products. Refer to back page 50 for Safety

Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

\ Disassembly/Replacement \

/\Caution o

1. Use a socket wrench when the bracket is replaced. CJP
If other tools are used, the nut or other parts may be
deformed or the work efficiency may decrease.

\ Handling \

/A Caution

1. Do not open the cushion valve beyond the stopper.
A retaining ring is installed as a cushion valve retention
mechanism. Do not open the cushion valve beyond it.

If not operated in accordance with the above precautions, For applicable sockets, refer to the table below. CJ2
the cushion valve may be ejected from the cover when air Bore size Width across Tightening
pressure is supplied. (mm) Nut flats B G torque (N-m) JCM
- - DA00040 JIS B4636 —
Bore size (mm) Width across flats Socket wrench 40,50 (VI8 x 1.25, Hexagon nut 3 ypes) 13 +Two-angle socket 13 7.4 CMZ
40, 50 25 JIS 4648 Hexagonal wrench key 2.5 DA00010 SB
63, 80, 100 4 JIS 4648 Hexagonal wrench key 4 63 17 JIS B4636 20 —
== 9 y (M10 x 1.25, Hexagon nut 3 types) + Two-angle socket 17 CM 3
2. Use the air cushion at the end of cylinder stroke. 80, 100 DA00131 19 JIS B4636 29 D
Otherwise, the tie-rod or piston rod assembly will be damaged. (M12 x1.75, Hexagon nut 3 types) + Two-angle socket 19 CG1

2. Do not replace the bushing.
As the bushing is press-fit, replace the cover assembly CG3
when the bushing must be replaced.

A\ Caution

1. Do not use a pneumatic type as an air-hydro cyl- . JMB
inder. It can cause oil leak. 3. When a seal is replaced, apply grease to the new seal ——
. . before it is assembled. MB
2. Do not rotate the piston rod when the rod boot is Operation of the cylinder without greasing will result in extreme L———
fixed. abrasion of the seal, causing premature air leakage. MB1

Before rotating the piston rod, loosen the band to avoid
twisting the rod boot. 4. Do not disassemble the trunnion type cylinder be-
cause the mounting precision is required.
It is difficult to align the axial center of the trunnion with the [
axial center of the cylinder. Thus, if this type of cylinder is CS1
disassembled and reassembled, the required dimensional ———
accuracy cannot be attained, which may lead to malfunctions. |(S2

3. Install the rod boot with the breathing hole facing
downwards or in a direction suitable to prevent
dust, moisture etc. from entering easily into the
rod boot.

Water Resistant Air Cylinder

Water resistant air cylinders are also available in CA2 series, which are
suitable for use on machine tools, where exposure to coolant is possible
and applicable for food machinery and automobile washing equipment
in an environment where water splashes. Please contact SMC for more
information.

D-UJ
-XUJ

Technical
Data

525 @




